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SYDNEY GRAMMAR SCHOOL TRIAL EXAMINATION 2001

2 UNIT MATHEMATICS FORM VI

Time allowed: 3 hours (plus 5 minutes reading) Exam date: 8th August 2001

Instructions:

All questions may be atterapted.
All questions are of equal value.
All necessary working must be shown.

Marks may not be awarded for careless or badly arranged work.
Approved calculators and templates may be used.

A list of standard integrals is provided at the end of the examination paper.

Collection:
Each question will be collected separately.
Start each question in a new 4-leaf answer booklet.

If you use a second booklet for a question, place it inside the first. Don’t staple.
Write your candidate number on each answer booklet.

’
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QuesTiN 10
QUESTION ONE (Start a new answer booklet) ve "

Z
[
=

o] [of [w] [=]e
w

(a) Convert %"- to degrees.

1+
o

e
-
P
=}
=

o~

(c) The line 5z — ky = 7 passes through the point (1,1). Find the value of k.

(d) Differentiate y = 52° — 2z + 9 with respect to z.

2. AP = A cosB \/
_l /(, 059 ﬂ.(ps@ SM(‘) \/
2°

1.

(f) Find the exact value of tan § +tan . s - pe cos 9 <in © o req/\w/‘ Y \/

(g) Solve |z — 1| = 11.

2]

4
E S8 ith a rational d inator in si .
(e) Expres o1 wi rati enominator in simplest form s =

(] [eo]

(- sm 6) (3me)

)
N\%e N\

QUESTION TWO (Start a new answer booklet)
& (sM — sm 9)
2.

Mark (a) Differentiate the following with respect to z:
2 (i) z%e", Wy 48 Cos & — 3$M YO cos® __L_ wse (1= 3sm’e \/
a2 .
(i) In(3z — 2), de 1 L
(i) sin®z. ds _o whan ws€=0 or smo =%
de | Poss'( LAe

(b) Find a primitive function of (3z — 4)°. . - N
Smeeg O <O <90 ) s =

Oﬂﬂa« s ofuckion. |

(c) Evaluate the following definite integrals:

2
[2] o) / 6z? da,
J1

\—[:-T'

{ . Whea sne =+ [

(ii)/ sin 2z dir.
Jo

NayMu M \/

[N

/ |
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QUESTION THREE (Start a new answer booklet)

(2) A 15- 24 medves , B
25
£ o
vy
e N
c
Marks
(i) Find the length of BC correct to the nearest centimetre.
(ii) Find the area of AABC correct to the nearest square metre.
. . . 1.1
(b) Consider the geometric series’l — 3 + g "
(i) Explain why the series has a limiting sum.

(ii) Find the limiting sum.
(c) Find the equation of the tangent to the curvey = Inz at the point (e, 1).

(d) If & and B are roots of the equation 2 + 8z 4 11 = 0, find:
@) a+8,
(i) ab,
(i) o + A%

QUESTION FOUR  (Start a new answer booklet)

in the diagram a
Marks

J
E‘l (i) Sketch the graph of y = f{z) + 2.

3 3
(ii) Given that / f(z)dx = -12—5, evaluate / (F(z)+2) d.
J1 J-o1
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SGS Trial 2001

.................. Paoge 4
(b) A particle moves in a straight line so that its displacement = metres at time  seconds
is given by = = 23 — ¢2.
(i) At what times is the particle at rest?
@ (il) How far does the particie travel between these times?
A
()
B N ¢
In the diagram above, AABC is isosceles with /B = /C = 40°, and AD = AE.
Let ZDAC = 6. .
(i) Explain why ZADB = 40° +9.
(ii) Find an expression for ZDAFE in terms of 6.

(iti) Show that ZEDB = 16.

QUESTION FIVE (Start a new answer booklet)

(a) A atlTITHT, B

=

In the diagram above, O is the centre of a circle of radius 4-8 centimetres, and
LAOB =T75°.

Marks

(i) Find the exact length of arc AB.

(ii) Find the exact area of the sector AOB.

(] o] [

(i) Find the area of the minor segment that has been shaded. Give your answer
correct to three decimal places.

62utrial0l  2/8/01 Exam continues next page ...

b)

QuesTioN §

a‘) iy A= ‘500(‘
:§f|5[\.25

(‘;\) t\ = | 500 ( B
=4 3677

G Totad AMownt =

]

h

\

(iv) New Totel =

-0075)
j20

oo75> Y

04. v 120 ng

"SOO[I~OO75 + ooY5 4 jooTS5

1.2

ISOD[ [-ooTs loors -~ |

(loops - 1)

1500 % [94.9b5634
$29244¢

E///

(600 x 194.9656342%) /

= 4311945

< Differente
Gy Adta ABCD =

1 a(er £) Y

$19497 v

€

= ¢ ¥ (M’L\ /
:

X
(ii) A/"ta/ wnde v ’H\.Q cuv Ve = j 14 ol)(, \/

- ﬂgxl;

i

ug
to 4 l'oo‘{s] \/
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Q vestion . \/ (b) (i) Solve tanz = —3 for 0 < x < 2m. Give your answer in radians correct to three
) L SNA = go (M*‘Wv\o)\ L of AAWD > decimal places.
L BXC = 5% (y_x-l-fﬂ\ru\ L of ACxE > (ii) On the same diagram, sketch graphs of y = tanx and y = —3 for 0 < z < 2.
x = 1fO0-— (\go + 5‘(9> (\ Lsu of A > / (ili) How many solutions are there to the equation tanx = —3 in the domain
o= 44. \ \/ 2 <z < 2n7
o)  LopPA = ((ebfmele Loon ] Jies ) / QUESTION SIX
" AADP i soawles = AD = AP — 1, (Sta;r,t a new answer booklet)
L BPC = 4 ( altemate [ on I Lares ) \/ (a) (\ ‘(')” ; 3xz+ 2e-1
S ABEP b ihoswles = BC=BP _—
Smee ABLY H o PQ\qu(sL[o’qM) Ap=BC  — 3 / 3
5‘3/’ 24 5 AD =AP = pe = BP : A c \
o AB=AP 48P (Thoe ar other 19)
= AD + AD ‘ \/\/ acce plabAe netho ds
. = 2AD as T wired A}Z,Q_occd £ “j\wks bl [ B
‘ A -2- 45 " : . S\ML\CL"\la \f Possllo > \
(/> (O 5. ‘/ ‘
= 4- 20K In the diagram above, the graph of y = 322 + 2z — 1 and the tangent to the curve at

Q

a) Forveal ‘roo‘[’j\ A
17 4-20k
ke £
o) i =2z Y
,&/ 2/ 4 = 2he /

- x o= 4

4
)
g

% \/ &U"\\\\QJX the point A(—1,0) are drawn.

\/ (i) Show that the equation of the tangent is y + 4z 44 = 0.

(i) Show that the tangent meets the y-axis at B(0, —4).

o O

(] [=] [

(iii) Find the equation of the line that passes through B and which is perpendicular
to the tangent.

(iv) Show that this line meets the z-axis at the point C (186,0).

(v) Find the area of AABC.

(=] [=] (=]

C 2
L or fall = XV\ x / (b) The region bounded by the curve y = tanz and the z-axis from z = 0 to
. (S A % = I is rotated about the z-axis. The volume of the solid formed is given by
w - T
q
% = 4} ) / V=a / tan? « dz. Use Simpson’s rule with the three function values z = 0, § and
Jo
T S z i ’ i i
but x 7 © = 4 o 'm\\g,r ‘k v 7 to approximate the volume. Give your answer correct to three decimal places.
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QUESTION SEVEN (Start a new answer booklet)
Marks A

(2) A
E © X / \ Y 0 B
Find the value of z. (Give reasons.)
() A P 8
X
x s
D hd c

In the diagram above, ABCD is a parallelogram. The point P lies on AB and it is
known that ZADP = /CDP =z and /BCP = (DCP =y.
Prove that 2AD = AB. (Give reasons.)

(¢) (i) Write down the discriminant of 522 — 2z + k.
(ii) For what values of k does 527 — 2x + k = 0 have real roots?

[2] (d) Solve log, 16 = 2log, z.

G2utrialol  31/7/01 Exam continues next page ...

QUESTION b
oL) (i)AdZSJ-+2X~]
dj - bx +1
e /
At x=-1 dy -— 4 \/

dr

E 4t /ioﬁa. ~o = = 4( x1) /

,uyfa'f‘b(--k‘? =0

@) Whew % =0, 4+ 4=0

e 4\./
Ao b = (o~ % '
@ M= ¥ >\/

%
g4 = Fx-9)
;e/ 4\1#[(0:;1’ \/

Uv)\’\n\(z_vv ,(3:0) x = o
$Hle)

@) Areo b ASC =L x 1]

= 34 wvi’rs'y

V.

2T f T_(o +4r;<oAmS7+l)‘J /‘/

NV,

G\
-
O
g ™

( S\k\o"“\%d I mark ”‘;E%Y' /d\wvmét
roundiog or \f they have 1t

W

Q'_ﬁ,qwﬁad’i’b voud "‘\C'F\/




QuesTioN 5
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a) M

Q)

Qi

ONC
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)
Q'n)

75 = Tox R
150
12
oL = Brx 48
™ /
= 2T M
Area of sector = ,\1

8 sn V4

Lsu\ﬁyc\d | mak  &f

6\:"»\2)/' q“SwEV "\&S bezvv

' i (o283
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" 1501719k,
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F

A/"(.Ou o'( se_aw\(zv(t =
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i

tanx =—3
Relafe b on = 1249
Soxo= T - hl4g
= 1-89% or

3-9

or

5.

of SKL"(‘OF; Area of &

1 a8) smsE /
L g (3

52 \/
v/

2r— 12 49
034

v l\4\'5
‘/ (erk No mavks fov
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QUESTION EIGHT (Start a new answer booklet)

(a) Kerry deposits $1500 into a superannuation fund on January st 2001. He makes
further deposits of $1500 on the first of each month up to and including December 1st
2010. The fund pays compound interest at a monthly rate of 0-76%. In each of the
following questions give your answer to the nearest dollar.

=
8
=
7]

(i) How much is in the fund on January 31st 20017

(ii) How much is the first $1500 deposit worth on December 31st 20107

(] [=] [=]

(i) Form a geometric series and hence determine the total amount in the fund on
December 31st 2010.

(o]

(iv) If each deposit was increased to $1600, what difference does it make to the total
amount in the fund on December 31st 20107

.ha/

7‘
Ad:L

(b)

.

¢ (1,2}

Al 0 B P

~1,0) . (1,0
In the diagram a{)ove, a straight line has been drawn which intersects with y = €7
at the points C(1,€) and D(—1,1). The point A has coordinates (—1,0) and B has
coordinates (1,0). The area between the curves has been shaded.
. . o e?+1
(i) Show that the area of the trapezium ABCD is given by o

(ii) Hence, or otherwise, find the exact area between the curves.
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QUESTION NINE (Start a new answer booklet)
(a) The value $V of a car is given by the formula V = Ce™*, where C and k are constants

and ¢ is the time measured in years. Michael bought a car on June 30th 2001 which
cost $65 000 and which was worth $55 000 after one vear.

Marks e o Jeal
(i) Evaluate the constants C and k.
(ii) Find the value of the car after 5 years. Give your answer correct to the nearest

dollar.
(iii) In which year will the value of the car fall below half its cost price for the first
time?

(b) Concrete is pumped from a truck info a building foundation. The rate Rm?/hour at
which the concrete is flowing is given by the expression B = 9t2 — ¢4 for 0 < ¢ <3,
where ¢ is the time measured in hours after the concrete begins to flow.

(i) Find the rate of flow at time t = 2.
(ii) Explain why t is restricted to 0 < t < 3.

(i) Find the maximum flow rate of concrete.

o] [eo] [ []

(iv) When the concrete begins to flow, the foundation has 1000 m® already in place.
Find an expression for the amount of concrete in the foundation at time ¢.

f2utrialll  6/8/01 Exam continues next page ...

@uiEsTioN 4

=
g
s g
iy
B
-+
]
Q-
R
i}
%]
-~
=)

[

3 2
b x_:z.'b "’t
>(‘) o= bt 2k \/
At vest when ¥ =0

) 24 (3t-1) =0
/ 1t=0 oy % . \/
(i At £=0 = x

14
O '7/
A
L D«h'tamﬁmrqho( 42T
(c) Q) LADB = 40+ 0 (lx’tzv‘(orm%(
D) LDBE = 4‘0 US'OSOL(QJ'

LDAC+ 40+ © + 40 = I§O
LDAE =100-0
Giy L Apg = Lz(lffm(xoo—e)‘)

i
» Q

i

of A) v4
(0’\5(2, SUL.M) /
A
Uoc\sa, L, ISOSULlQS AADE) \/

= 40-@9,; \/

[LeEDB = (40+48) ~ 4°+*7
= 9

2

1
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NUESTION 7:3 . 2 ., \/ QUESTION TEN (Start a new answer booklet)
(@ iy BC = 48 +15:24 — 2xA8ix 15 -2 4x cos 3 20
= 73.0861 . M ~ . . NQT_ (&)
L)
T B = 55 m ( nearest (‘_M) \/ (PQ“C\"&SZ Mmeco . "
. : nov TS
() Arca A ABC = 1 absnC *”"W“’“"?,V bud D p
> ¢ s 320" no rouvxd»{na +o
[ 98 524 . sm3l20 \/
- . X odp. >
%
= 3%.87... m /
. 2
N 2 39 m .
Bisr= =3 Smce o] <1 s, exists \/
i S, = & -
I—r
S
Y In the diagram above, P is a point on the circle with diamater AB = £. The point
3 @ is on the diameter such that AP = AQ. Let ZPAQ = 0 and let S be the area of
= APAQ.
1' Marks 2 .
© f(_,ﬂ, | (i) Show that § = ) cos® @sin §.
C = A
. x \/ ( "Fof it l’\’zf or LO{L"» (ii) Find the maximum area of AAPQ as P moves along the circumference of the
circle.
A )t = 2 = _i
x , O . L1 A B
cx. (b) (i) Find A and B such that =
{ " -1z z2-1" g
EoV,\ccho"\ - Jccma,z« 05 1 1 1 1
,?~) = J_(x—rz_) (u)Lets“:1><2+2><3+3><4+m+(n—1)n'
% Show that S, =1 — %
/n, -] = _)_(- - , co 1
2. / (iii) Hence or otherwise evalute 7;2 =T
x = g
' \/ ING
@@ ot+p=-F /
) d‘\f’,’- = 1 V
P L N 4 a
\'\H/ oK+ ,p = \D(’F F"{ — ~O0p )
= (=) "= 2x1 /
=42
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5 ey / e
b) -‘_S’tan Ly 4cC / So_uTioms Ax ) xe/x &24 )L> K“o.‘. ,\g,c,q_ssq\/‘-d’v
‘N g"k/:7 \/ ; 3
- / ") = \/\/
k-2 v ¢ i%’b 3x—2 ,
. J/
4) dy 15y — 2 S/ (1 eadh) Gi) dy 2 Swx.COSX v
- ox
drx 7 \//
!o) Q;c—- 4)
) 2 Bet 4B/ 21 X
V3 - YERY 2 ¢ o e [2);] \/
. N T =
= 2(\)3'!!) \/ j-y ‘.
. 2% 8 - 2l
£ 34 /) ead) - “: A4
‘ T = T
3) | x—1 | =11 : : 0 j em2xox =L [c,os%v]() \/
w~ | =11 ov x-~| =-1} 0 2
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